ANEOR 30m T §E S22 10m 7H]

E32A 55ke, 7] 170 cm



@ ¢r27] 75cm

® 4H 9] 10m

14 2500m

6]

®

® AZo°=Z 300m



3. A SN -3 %6 9 &



@ A:-

@ D: 2

oA A A, B, C, D, E 7} YeH|E= 42 bl A =

j 53
m‘l—? (F A A, CEEF T 712 e Holtt)

A B CD E
-4 -3 -2 -1 0 1 2 3 4

@ B: -2 ®C: >
® E: 4



5.

5 A% A, B7H RS 22 T, A+ B O 3L Fetoleh




1 Hrtt4

2Hh5 & F0]11 B &=

A= -

6.

@ 1 3B 2

3 0



off, ] A <

S}
=

ddighol 2 78 U4

ol
il
<
ojn

oy

o)
]

+12,-9,-6,44,-7,0, +13




o, Al

St
=

o 42H ug

—6,47,-1,0,-5,-8, +4




o
o
RS
o|J
ofig
Nfo

oln

HEo A,

(e

o

<

ojn

o @ugrol

<

e



AAT}o] A7} 71 TS

ohg % S 40lA

0’

- 228,

, 9, 3.1,

16
7







